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57 |FH B8 | 404| 1|— Y EREER 1210.5 7800| 300 300] 160| 136 0 0 0 o[ 400 220] 160/ 64 0 o] 240 60 0
i s 2| % [ AIMERRKE 12105 4305] 100 100 0] 160 136 0 0 0 0 0] 280 112 0] 330 825 0
55 |Al TTHE 4| 1| & |BEHrEEK 1203.0 4235 0 0 0 0 o[ 330] 231] 200 110 0 0 0 0| 330 825
Wik #B& 2 5 (BEHrEER 1203.0 779.5 0 0 0] 280 238 0| 420, 294] 300/ 165 0 0 0 0] 330 825
59 |HAZ 246| 1| 2 [WMWERXZE 11935 773.0 0 ol 160 136 o] 330 231 o] 300 165 0 o] 340 136 o[ 420 105
54X B 2| 2 |hHERKE 1193.5 4205 0 0] 100[ 85 0 0 0] 300/ 165 0 0| 220| 88 0| 330| 825
60 |BA Ki 395 1| %2 [FILZERKE 11755 4000 | 400 400 0 0 0 0 0 0 0 0 0 0 0
=X B 2| F [ ABXKXE 11755 7755 | 400 400 0] 160 136 0 0 0 0 0 0] 280 112 0] 510/ 128
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62 |RE EE 326| 1| 2 [BEIXZE 1158.5 7175 0 ol 400 340 o] 330 231 0 0 o] 160 64 o] 330 825 0
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63 |HAA 243| 1| 2 [AMBERKE 11500 7730 0 0| 160 136 0| 330 231 ol 300 165 0 0| 340] 136 0 420 105
g K 2| % [WINERXE 1150.0 377.0 0 0| 160 136 0 0 0 0 0 0] 340 136 0] 420/ 105
63 ILEE B4t 431 1| 2 [RI X% 1150.0 9500 | 200 200 ol 160 136 o 420 294 ol 400 220 o] 100 40 o] 240 60 0
Bl 2|—fBITEAM TUKUDA 1150.0 2000 | 200 200 0 0 0 0 0 0 0 0 0 0 0
65 |EE IEMI 430 1| & [RBEAEESK 1147.0 289.0 0 0 0 0 0 o[ 300 165 0 o 160] 64 0| 240] 60
EiE BE 2|— 1147.0 8580 | 100 100| 280| 238 0 0| 330 231 0] 300| 165 160 64 0 0| 240| 60 0
66 | TR K 489 1 11395 11395] 400 400 0 0 0| 420 294 o] s00[ 275 220/ 88 0 0| 330 825 0
R BF 2|—f% 1139.5 0.0 0 0 0 0 0 0 0 0 0 0 0 0
66 EERETS 515| 1|—RY{FEEREH T E 11395 11395] 700 700 0 0 ol 510 357 0 0 0 0 o] 330 825 0
5T #h— 2—AMFEAARST18R1T | 11395 0.0 0 0 0 0 0 0 0 0 0 0 0 0
6 |L=ZA_Hl 19 1 AEKHESK 11385 549.5 0 0 ol 220/ 187 ol 240 168 0 0 o] 280 112 o] 330 825
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=H FEA 2 F jLEIkKﬁEF& 1117.0 789.0 | 200 200 0 0| 220/ 187 0| 240, 168 200/ 110 0 0] 160 64 0] 240/ 60
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53 |HtE AEH | 131 2 (AWK 200.0 0 0| 160| 136 0 0 0 0 0| 160| 64 0 0 0
53 |EE X% 230| J [(AEXHEHFE 200.0 200 | 200 0 0 0 0 0 0 0 0 0 0 0
53 |FH MEX 232| J | LEXMEFZE 200.0 200 | 200 0 0 0 0 0 0 0 0 0 0 0
53 |K¥t B 233| J | LEIXKMESZ 200.0 200 | 200 0 0 0 0 0 0 0 0 0 0 0
53 |#IL FHZETF | 235 J [EEERERHZE 200.0 200 | 200 0 0 0 0 0 0 0 0 0 0 0
53 |BfiE EM 238| J |ERFZ 200.0 200 | 200 0 0 0 0 0 0 0 0 0 0 0
60 |[PRT =% 61| & |REXRELSK 196.0 0 0 0| 160 136 0 0 0 0 0 0 0| 240 60
61 [BKk HE | 11| & [ WEXKESHK 1945 0 0 0 0 0 0 0 0 o 280 112 0| 330 825
62 |=K HEF | 10| B | WEXHESK 193.0 0 0 0 0 0 0 0 0 o| 220 88 o| 420 105
63 [(BX & 109| 2 [AINEEKZE 176.0 0 0| 160| 136 0 0 0 0 o| 100| 40 0 0 0
63 |B% mig] | 187] ¥ (EEKE 176.0 0 0| 160 136 0 0 0 0 0| 100| 40 0 0 0
65 |CHIER 2% | 48| & [BEXFER 168.0 0 0 0 0 0| 240 168 0 0 0 0 0 0
65 |&A 1% 52| & |RBEXTER 168.0 0 0 0 0 0| 240 168 0 0 0 0 0 0
67 |E5 XML | 68 & [BEAEESKR 167.0 0 0 0 0 0| 60 42| 200 | 110 0 0 0 of 60 15
68 [EIL =P 227 J | LEXFEHRZE 165.0 0 0 0 0 0 0 o] 300 | 165 0 0 0 0 0
69 |sLiL HIE 216|— 3K -HYS5T 160.0 0 0 0 0 0 0 0| 400 160 0 0 0 0
70 |HAFT R 10| 2 [AIMEEKZE 152.0 0 0| 160 136 0 0 0 0 0| 40| 16 0 0 0
FARNNE 5 0% ) 108| 2 [AIMERKZE 149.0 0 0| 100| 85 0 0 0 0 0| 160| 64 0 0 0
e #F 186 %2 (fRRAKZ 149.0 0 0| 100| 85 0 0 0 0 0| 160| 64 0 0 0
71 |MRE EETF | 192| # |dLAMKE 149.0 0 0| 100 85 0 0 0 0 o| 160 64 0 0 0
74 |/hE KB 14| & | LMBEXHESEK 1465 0 0 0 0 0 0 0 0 0| 160 64 0| 330 825
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TFOUTNR
e TR2EE TRAEE
X246 |EREXRE MEAS EREFES BREAR MEAS EREFES

W | K S Py . - e [ FE 1 sE | B [ =&_1_ % N -

[Ba/BaH 155 100% | 5 85% | 19| 85% |15 85% (5| 70% |8 70% | 9| 55% |15 40% (15| 40% |85 40% | 52| 25% | {54  25%
75 [FE E#E 17| 2 [AMEEKE 140.0 0 0| 160| 136 0 0 0 0 of 10 4 0 0 0
76 [F)Il FFAC 18| 2 [AMERKZE 136.0 0 0| 160 136 0 0 0 0 0 0 0 0 0
77 (A% XE 220|—fYTEA AR TERIT 136.0 0 0 0 0 0 0 0| 340 136 0 0 0 0
78 |FEE =] 97| # [AIMHIKZE 1275 0 0 0 0 0 0 0 0 0 0| 510{ 1275 0
79 |FE BE 26| & |[ABXEEE®R 125.0 0 0 0| 100 85 0 0 0 0 0| 100 40 0 0
79 |RK #H 84| & |RESK 125.0 0 0 0| 100 85 0 0 0 0 o 100 40 0 0
79 |FIE V& | 193] F [dLAMKE 125.0 0 0| 100| 85 0 0 0 0 0| 100| 40 0 0 0
82 |{Fk AW 40| B |REXTFER 124.0 0 0 0 0 0 0 0 0 o 160 64 0| 240 60
82 |/MhEX EFER | 4| & |BEXFER 124.0 0 0 0 0 0 0 0 0 o| 160 64 0| 240 60
84 |lLO =3 105| 2 [AINEEKE 112.0 0 0 0 0 0 0 0 o| 280| 112 0 0 0
84 RO BE 106| 2 [AIMEREKZE 112.0 0 0 0 0 0 0 0 0| 280| 112 0 0 0
86 (K& & 217|—fB{LT1—/\—F 110.0 0 0 0 0 0 of 200 | 110 0 0 0 0 0
86 |FH HEH | 228 J |WEXMBEHZE 110.0 0 0 0 0 0 o] 200 | 110 0 0 0 0 0
88 |fEH E=E 2| & |[/hEEER 105.0 0 0 0 0 0| 150 105 0 0 0 0 0 0
88 (/A #HE 3B & |/MEEEEK 105.0 0 0 0 0 0| 150 105 0 0 0 0 0 0
88 |#BK WKRE | 4| & |/IhEESK 105.0 0 0 0 0 0| 150 105 0 0 0 0 0 0
88 |NQ & 3| & |[/hEEEK 105.0 0 0 0 0 0| 150 105 0 0 0 0 0 0
88 |i&EIL AIFY 36| & |[hEERK 105.0 0 0 0 0 0| 150 105 0 0 0 0 0 0
88 |hE R& 47| B |RBEXTER 105.0 0 0 0 0 0| 150 105 0 0 0 0 0 0
88 |HF FHH | 50 B |BEXFER 105.0 0 0 0 0 0| 150 105 0 0 0 0 0 0
88 |45 M 54| & |RBEXTER 105.0 0 0 0 0 0| 150 105 0 0 0 0 0 0
88 |FH Eif 0| & |[EREESKR 105.0 0 0 0 0 0| 150 105 0 0 0 0 0 0
88 |Him KB | & |[EREESK 105.0 0 0 0 0 0| 150 105 0 0 0 0 0 0
98 |t EETF | 42| B |BREXFER 101.5 0 0 0 0 0 0 0 0 o 160 64 0| 150 375
98 (AR %=F 58| & |RERELSK 1015 0 0 0 0 0 0 0 0 o 160 64 0| 150 375
100 [AE MhA | 123] 2 [AHEEKRE 101.0 0 0| 100 85 0 0 0 0 of 40| 16 0 0 0
100 | ZF 132| 2 (MK 101.0 0 0| 100| 85 0 0 0 0 0| 40| 16 0 0 0
100 (&R ZEx 179| 2 |BEBEXRE 101.0 0 0| 100 85 0 0 0 0 of 40| 16 0 0 0
100 |EIE HE | 189 ¥ [BEEKE 101.0 0 0| 100| 85 0 0 0 0 0| 40| 16 0 0 0
100 (AT & 205| 2 |INTHEXZF 101.0 0 0| 100| 85 0 0 0 0 0| 40| 16 0 0 0




